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Answer Key & Worked Solutions 

Maris Stella Paper 

P6 Mathematics SA1 2018 
Paper 1 

Q1 Q2 Q3 Q4 Q5 Q6 Q7 Q8 Q9 Q10 

4 3 1 1 2 4 3 1 2 4 

Q11 Q12 Q13 Q14 Q15 

4 2 4 1 3 

Q16) 1.29 
Q17) 

7
8
 , 0.85, 

0.805 

Q18) 512 cm3 Q19) 6 : 13 Q20) 108 cm 

Q21) $250 
Q22)  

11
20

Q23) 28 Q24) 25 cm2 Q25) $100 

Q26) 22 cm2 Q27) Chris and 
Dave 

Q28) Q29) 8π Q30) 18 

Paper 2 
Q1. 150 x 5 = 750 

750 – 200 – 120 – 160 – 180 = 90 

Q2. (a) 2y + 8
(b) 5y + 8

= 5 x 9 + 8
= 53

Q3. (a) South-west
(b)
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Q4. 7 – 4 = 3 

1
3
4

 ÷ 3 = 
7
12

14 ÷ 
7
12

 = 24 (gap) 

24 + 1 = 25 

Q5. 1 + 5 x 
1
2
 = 3.5h 
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Worked Solutions 
Show your working clearly in the space provided for each question and write your 
answers in the spaces provided. 

6. Mass of container 50% filled with sand = 4.5 kg

Mass of container 80% filled with sand = 5.7 kg

Mass of 30% sand = 5.7 – 4.5 = 1.2 kg

Mass of 10% sand = 1.2 ÷ 3 = 0.4 kg

Mass of 50% sand = 0.4 x 5 = 2 kg

Mass of container = 4.5 – 2  = 2.5 kg

Ans:  2.5 kg 

7. Score if Bala won all the games = 20

Excess = 20 – 4 = 16

Difference of score between winner and loser = 2 + 2   = 4

Number of times Bala lost = 16 ÷ 4 = 4

Number of times Alice lost = 10 – 4 = 6

Ans:  6 
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8. Total mass of mixed rice = 1.7 + 2.45 + 2.6 = 6.75 kg

Number of packets of 250g rice = 6.75 ÷ 0.25 = 27

Total sales = 27 x 2.4 = $64.80

Ans:  $64.80 

9. Let breadth of rectangle = length of square = u

Perimeter of figure = 10 + 4 + u + u + u +  
1
2

u +
1
2

u = 46

4u =  32 

u = 8 cm

1
2

u = 4 cm

Area of unshaded part of rectangle = 
1
2
 x 4 x 8 + 

1
2
 x 4 x 6 = 28 cm2 

Shaded area = 10 x 8 – 28 = 52 cm2 

Ans:   52 cm2 
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10. a)

Number of ice cream sticks  3, 5, 8, 10, 13, 15, 18

Number of icre cream sticks to form Figure 7 = 18

b)

Number of ice cream sticks  3, 5, 8, 10, 13, 15, 18, 20, 23, 25, 28, 30, 33, 35 

Figure 14 used 35 ice cream sticks 

Ans:  (a)  18 
(b) Figure 14

11. Volume of mixture =
5
6

 + 
3
2

 = 
5
6

 + 
9
6

 = 
14
6

 ℓ 

Remaining fruit punch = 
3
5

 x 
14
6

 = 
7
5

 ℓ 

Number of bottles = 
7
5

 ÷ 
2
5

 = 3 remainder 
1
5

 ℓ 

Ans: 
1
5

 ℓ 
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12. Volume of water in Tank A at first = 12 x 14 x 10 = 1680 cm3

Total base area = 14 x 10 + 7 x 10 + 6 x 5 = 240 cm2

Final height of water in 3 tanks = 1680 ÷ 240 = 7 cm

Drop in height of Tank A = 12 – 7 = 5 cm

Volumen poured out of Tank A = 5 x 14 x 10 = 700 cm2

Ans:   700 cm2 

13. a)
∠BCD = 60 + 22 = 82°

∠FDC = 180 – 82 = 98°

b)
∠EFD = 180 – 63 – 63 = 54°

∠BFD = 180 – 110 = 70°

∠EFD = 54 + 70 = 124°

Ans:   (a)  98° 

(b) 124°
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14. a)

Let number of pants sold = 2u

Number of shirts sold = 3u

2u x 48 + 3u x 36 = 3672

204u = 3672

u = 18

Number of shirts sold = 3u = 3 x 18 = 54 

b) 

Number of clothing sold on Friday = 5u = 5 x 18 = 90 

2
3

 of clothing in shop = 90 

1
3

 of clothing left unsold = 90 ÷ 2 = 45 

Ans:  (a) 54 

(b) 45

15. a)

Number of women at conference at first = 
2
5

 x 1375 = 550 

After an hour remaining women = 0.6 x 550 = 330 

Two hours later, number of women left = 0.8 x 330 = 264 

b) 

Number of men at conference = 
3
5
 x 1375 = 825 

Total number who stayed at conference = 825 + 264 = 1089 

Percentage of women who stayed = 264 ÷ 1089 x 100 = 24.2% 

Ans:  (a) 264 

(b) 24.2%
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16. a)

2
3

of remainder = 118 + 2 = 120

1
3

of remainder = 120 ÷ 2 = 60

3
3

of remainder = 60 x 3 = 180

3
4

of all cookies = 180 + 9 = 189

1
4

of all cookies = 189 ÷ 3 = 63

4
4

of cookies baked = 63 x 4 = 252

b)
Cost of set of 9 cookies = $1.50 x 6 = $9
Number of sets of 9 cookies sold = 118 ÷ 9 = 13 remainder 1 cookie

Least sales amount = 13 x 9 + 1.50 = $118.50 

Ans:   (a)  252 

(b) $118.50
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17. a)

Circumference of large quadrant = 
1
4

 x π x 80 = 20π cm 

Circumference of medium quadrant = 
1
4

 x π x 40 = 10π cm 

Circumference of small semi-circle = 
1
2

 x π x 20 = 10π cm 

Perimeter of remaining figure = 20π + 10π + 10π + 40 + 20 = 40 π + 60 

= 185.6 cm 

b) 

Area of large quadrant = 
1
4

 x π x 40 x 40 = 400 π  cm2 

Area of medium quadrant = 
1
4

 x π x 20 x 20 = 100 π  cm2 

Area of small semi-circle = 
1
2

 x π x 10 x 10 = 50 π  cm2 

Area of remaining figure = 400 π - 100 π - 50 π  = 250 π = 785 cm2

Ans:  (a)  185.6 cm 

(b) 785 cm2




